
1 1. 1 7.

1. 1 0 1 0 0 4 0 7 0 6 7 4 9 3 0 5 0 6 3 9 8

4 9 5 2 5 5 5 8 6 1 6 4 6 7 7 0 7 3 7 6 7 9

2. 3 8 + 6 = 4 4 7 9 + 8 = 8 7 5 5 + 9 = 6 4

3 8 + 2 + 4 = 4 4 7 9 + 1 + 7 = 8 7 5 5 + 5 + 4 = 6 4

4 4 + 7 = 5 1 8 8 + 5 = 9 3 6 3 + 9 = 7 2

4 4 + 6 + 1 = 5 1 8 8 + 2 + 3 = 9 3 6 3 + 7 + 2 = 7 2

3.

Adatok:

3 7 + 7 = = 4 4

1 1. 1 7.

5 9 + 8 = 5 2 + 9 = 3 4 + 7 =

4 3 + 9 = 5 9 + 2 = 3 7 + 5 =

2 8 + 7 = 4 9 + 5 = 8 9 + 9 =

2 7 + 8 = 4 5 + 9 = 1 7 + 4 =

44 meggyes pitét adtak el.

A cukrászdában 37 szelet almás és 7-tel több meggyes pitét adtak el. Hány 
meggyes pitét adtak el?

37 szelet almás és 7-tel több meggyes pitét adtak el

Gyakorlás

Házi feladat


